
1. a) {_m“-W¿

2. b) emem-e-Pv]-Xvdmbv

3. c) kap{Z Kp]vX≥

4. b) knhm-enIv

5. a) ssat{Im-^n-\m≥kv

6. a) _Z-dp-±o≥ Xnbm_vPn

7. d) B{‘m-{]-tZiv

8. c) cmw{]-kmZv _nkvan¬

9. a) DdpZp

10. c) Xm¥n-bm-tØm∏n

11. d) C¿∆n≥ {]`p

12. c) 1963

13. a) 1992 P\p-hcn 31

14. a) em¬ _l-Zq¿ imkv{Xn

15.  b) 1949

16. a) kn. AN-yq-X-ta-t\m≥

17. d) 1947

18. d) ‰n.sI am[-h≥

19. c) Aø-¶mfn

20. d) ]m¿∆Xn s\≥aWn awKew

21.  b) 1891

22. c) s\Sp-¶bw

23. a) inh-∏-\m-bv°¿

24. c) {In°‰v

25. a) inh-Kn-cn-ae

26. d) tIkcn

27. d) Ipdn-N-y¿ Iem]w

28. b) jmMv

29. a) [m\-y-∏pc

30. d) Ata-cn-°≥ hnπhw

31. c) s^{_p-hcn 13

32. d) sNm∆

33. b) 1960

34. a) Xmbve‚ v

35. a) 72

36. d) 80

37. b) tIm¿Wnb

38. d) _mtcm-ao‰¿

39. c) CuXo≥

40. b) s^S-dnIv thmf¿

41. b) Pntbm t{Sm∏nkw

42. a) 400v

43. d) A]h¿Ø\w

44. a) {^m≥kv

45. b) {]Imiv Pmth-ZvI¿

46. d) A≥jpe Im¥v
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47. c) C‰en

48.b) kma¥v Ipam¿ tKmb¬

49. c) an\m£n teJn

50. a) alm-cmjv{S

51. d) descent (descent - (noun) -An Act of moving
                           downward)

52. c) maintenance

53.  c) doesn’t he ? ( Comes = does + come Qstn
           positive Bb-Xn-\m¬ Tag negative
       Fgp-XWw)

54.  b) at  (Hcp \n›n-X-amb ÿeØv ap∂n¬ at)

55. a) flair  (Flair - Ability)

56. d) older (c≠v hy-‡n-tbtbm, hkvXp-°-tftbm
  Xmc-X-ayw sNøm≥ older D]-tbmKn°p∂p.

      c‡-_-‘-Ønse hy-‡n-Iƒ Bbm¬ elder Dw)

57. a) little (Uncountable noun t\msSm∏w  little negative
    Bibw \¬Im≥ D]-tbm-Kn-°p-∂p.)

58. a) the

59. a) is (amount of money bpsS IqsS singular verb
   D]-tbm-Kn-°p-∂p.

60. b) had already left  (past -¬ c≠v {]hr-Øn-Iƒ \S-
°p-I-bm-sW-¶n¬ BZyw \S-∂Xv past perfect -

    Dw c≠m-a-ØXv simple past  Dw ]d-bWw)

61.  b) panacea

62. a) aggravate

63. a) convict

64.  d) made from

65. c) herd

66. c) voice of the people

67. b) but also ( Not only ................ but also)

68.  d) whom (blank -\v tijw   pronoun  h∂m¬- whom
-                D]-tbm-Kn-°p-∂p.)

69. c)The project was completed by them

70. c) would have get (had + worked (had +v3) Bb-Xp-
     sIm≠v main clause would + have +v3 hcWw

71. d)hrØw

72. c) 5

73. a) 150

74. c) 1000

75. a) 190

76. c) 5

77. b) 1100

78. c) 1200

79. d) 16

80. b) 6

81. d) 12

82. a) 8%

83. d) sh≈n



71. d)hrØw

72. c) 5 (4 B¨Ip-´n-Iƒ + 1 s]¨Ip-´n)

73. a) 150

   ka-`p-P-{Xn-tIm-W-Øns‚ Np‰-fhv  = 3a

                                                           = 3x30 = 90 m

                                                                 = 90 x 100cm

                                                                 = 9000 cm

                                    Hcp NphSv = 60 cm

     Np‰pw \S-°p-hm≥ hbvt°≠

                                   Nph-Sp-Iƒ = 9000/60 = 150

74. c) 1000

          75% = 750 = 750/75 x100 = 1000

75. a) 190

          
lkvX-Zm\w =

  n(n-1)

                                         2

                                  
= 

 2(19)

                                           2     

 
= 190

76. c) 5

-         hnI¿W-ß-fpsS FÆw =  
n(n-3)

                                                           2

                                                   = 
5x2

                                                        2
                  

=5

77. b) 1100

                 60h -11m  
=

  60 x 12 - 11 x 20 
=

  500 
=  250

                        2                         2                     2

                          angle = 360 -

                                      250

                                      110     ( 250 > 180)

78. c) 1200

           BsI am¿°v x 45/100  =  540

                                                     = 540x100

                                                             45                
= 1200

79. d) 16

                   5th H‰-kw-J-y-bmWv = 35
                                 1th kwJy = 27
                               last kwJy = 43
                              43 ˛27 = 16

80. b) 6

                8 : 12    =  x : 9

                     12 x =  8 x 9

                          x =  
8 x 9

 = 6
                                    12

82. a) 8%

                    I   =   
PNR

                             100

                1200 =  
5000 x 3 x R

                                     100

                   
  R =

 1200  
=   8%

                             3x50

83. d) sh≈n

  1-- ˛ mw XobXn ˛ sNm∆, 8˛ sNm∆, 15 ˛ sNm∆, 22 sNm∆,

         23 ˛ _p[≥, 24 ˛ h-ymgw, 25 ˛ sh≈n

84. d) 2.15 pm

        1a-Wn-°q-dn¬ 10 an\n´v

                 6 aWn-°q-dn¬ = 6x10

                                          = 60 min   = 1hr

                                      1:15 + 1hr = 2:15pm

85. a) 100ao‰¿

                      S =  60km/hr   = 60x 5/18 m/s

                                          D = SxT

                                              = 60 x 5/18 x6

                                              = 100

86. a) sX°v

2km

2km

2km

87. a) -˛2

s]mXp-h-y-X-ymkw = c≠mw-]Zw ̨  BZ-y-]Zw

                   = 0˛2 = ˛2

90. d) C‘\w

88. d) 518

                 [(am)
n
]

p

     =  amnp  = [(a2)
3
]

3

  = 518

89. a) XYUZ

                   C     A   B  D  E   A  F

                        -6 / -6 / -6 -6 /-6 /-6 /-6

                        W   U   V X  Y  U  Z

Maths explanation

84. d) 2.15 pm

85. a) 100ao‰¿

86. a) sX°v

87. a) -˛2

88. d) 518

89. a) XYUZ

90. d) C‘\w

91. b) X¤hw

92.  b) £bw

93. a) Xs‚

94. d) t]¿j-y≥

95. b) hn[h

96. a) Zz-µ-z-k-amkw

97. a) k{am´v

98. c) hmb N°c ssI sIm°c

99. b) kmdm-tPm-k^v

100 c) ITn-\-amb {]h¿Øn

81. d) 12

                    12 12, 72

                           1,  6

                                 HCF = 12


